Precalculus: 8.4 Hyperbola Homework
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find the coordinates of the center and foci.
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#8-9: Write the equation of each hyperbola in standard form. Then find the goordinates of its foci,
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#10-11: Write the equation of the hyperbola that meets each set of conditions.

10. The center is at (4, -2),a=2, b =3, and it has a

vertical transverse axis.
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11. The vertices are at (0, 3) and (0, -3) and a focus is
at (0, -9)
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#12-13: For the equation of each hyperbola find the coordinates of the center and vertices.
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